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QUESTION 1

Which function is built into the HPE 3PAR OS and enables users to move data and workloads between arrays without
impacting applications, users, or services?

A. Remote Copy

B. Peer Persistence

C. Peer Motion

D. Adaptive Optimization
Correct Answer: C

Reference: https://h20195.www2.hpe.com/v2/getpdf.aspx/4aa3-3516enw.pdf

QUESTION 2

A customer with a restricted budget has an existing HPE 3PAR StoreServ 8200 using 10k Fast Class and Nearline
drives. Because of the implementation of new applications, the workload has shifted to be read intensive. Therefore,
they want to increase the read I/O performance.

What should they add to their environment?

A. atier with 15K Fast Class 600 GB drives for new cpg, configure AO policy to take advantage of new resources.
B. two 400Gb SSD drives and enable Adaptive Flash Cache

C. atier with 15k Fast Class drives and implement thin provisioned deduplicated virtual volumes

D. atier of SSD and implement thin provisioned virtual volumes

Correct Answer: B

QUESTION 3

Refer to the exhibit.
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A customer has upgraded the first of their two HPE StoreServ 8200S to the latest InForm OS version to take advantage
of the compression feature. You have been asked to design the storage configuration to support Oracle Database
volumes to utilize HPE 3PAR compression.

Based on the analysis of the array, what would be your suggestion to implement the requested change?

A. Consider adding another node pair for compression to work efficiently.

B. Install the Catalyst agent on the Oracle server to enable inline compression on the selected VV.

C. Configure the source-side compression to offload compression to the host.

D. Balance the workloads between the arrays to have enough headroom for compression.

Correct Answer: C

QUESTION 4

Which feature enables a non-disruptive environment where host-based multi-pathing software is not affected in the
event of a firmware upgrade?

A. HPE 3PAR Access Guard

B. HPE 3PAR Persistent Ports
C. HPE 3PAR Persistent Cache
D. HPE 3PAR MPIO

Correct Answer: B

QUESTION 5

An HPE 3PAR StoreServ customer with FC, SSD and NL, drives is facing extreme latency during peak business hours
with an OLTP application. They have enabled tiering using all drive types.

What could be used to resolve the issue?

Latest HPEO-J57 Dumps | HPEO-J57 PDF Dumps | HPEO-J57 Practice Test 3/4


https://www.geekcert.com/hpe0-j57.html
https://www.geekcert.com/hpe0-j57.html
https://www.geekcert.com/hpe0-j57.html

VCE & PDF https://www.geekcert.com/hpe0-j57.html
' 2024 Latest geekcert HPEO-J57 PDF and VCE dumps Download
GeekCert.com

A. Dynamic Optimization using tier 2
B. Adaptive Optimization using tier 1
C. Dynamic Optimization between tier 0 and tier 1
D. Dynamic Optimization using tier 1

Correct Answer: B
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